
CCNA 3 Final Exam Answers 2017 (v5.0.3+v6.0) 
1. Which three pairs of trunking modes will establish a functional trunk link between two 
Cisco switches?​ (Choose three.) 

● dynamic desirable – dynamic desirable* 
● dynamic auto – dynamic auto 
● dynamic desirable – dynamic auto* 
● dynamic desirable – trunk* 
● access – trunk 
● access – dynamic auto 

2. Refer to the exhibit. 
The configuration shows the commands entered by a network administrator for inter-VLAN 
routing. However, host PCA cannot communicate with PCB. Which part of the inter-VLAN 
configuration causes the problem? 

 
● trunking 
● port mode on the two switch FastEthernet ports 
● VLAN configuration* 
● router port configuration 
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